Math 102 - Fall 2012 - Test 1

Instructor: Dr. Francesco Strazzullo Name V\g)/

Instructions. Only calculators are allowed on this examination. Each problem is worth 10 points, unless

otherwise specified. Always use the appropriate wording and units of measure in your answers
(when applicable).

SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. A company buys and retails baseball caps. The total cost function is linear, the total cost for 200 caps
is $2680, and the total cost of 500 caps is § 3530. Write the equation that models this cost function.
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2. Write the equation of the line passing through (3, —1) and parallel to the line 3z -+ 2y = —5.
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3. Write the equation of the line passing through the points (1,1) and (2, —3).
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4. Write in a standard form the equation of the line y +1 = —2(z — 1).
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5. Write the equation of the horizontal line passing through (3, —2).
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6. In scawater, the pressure p is related to the depth d according to the model 33p — 18d = 496, where d
is the depth in feet and p is in pound per square inch.

(a) (7 points) What is the slope of the graph of this function?
(b) (8 points) Using the appropriate units of measure, interpret this slope as a rate of change.
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8. (15 points) Sue chooses one money market fund that pays 6.2% and a mutual fund that has more risk
but has averaged 9.2% per year. If she has $300,000 to invest and her goal is to average 7.6% per year

with minimal risk, how much should she invest in each fund?
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9. A jewelry maker has total revenue for her bracelets given by R = 89.75¢ and incurs a total cost of
C = 23.50z +1192.50, where z is the number of bracelets produced and sold. Find the number of units

that gives break even for this product.
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